7 men can complete a work in 52 days. In how many days will 13 men finish the same work?
(A) - 26 : (B) 27
28 ’ D) 29

7 awser @ Gaumeeanw 52 priseafled apyliurisar erafler 13 yamasar 1Gs Coumaanws Grg_r,g,mem
- Bprlsaflé) g liLmiaen?

(A) 26 B) 27
(C) 28 ' (D) 29

= %52 = 28days
13

Base area of right circular cylinder is 80 cm?. If the height is 5 cm then the volume is

AW 400 cm® | (B) 16cm’

(C) 200cm? . (D) fl% cm?

@@ Crreul L g@mmuﬁlsa Siquss uriy 80 & Q&s. siger a.u.JrJu) 5 @EFLS GTsaﬂGo DI SET HEUT {66

(A) 400@s. 8 ' (B) 16Q@e. LS

© 20058 D) %9 Q5.5

2-80cm? h=5cm = 2r’h=80x5=400cm?
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Find the simple interest on Rs. 7,500 at 8% per annum for 1—;— years.

(A) Rs.800 B Rs. 900
(C) Rs. 8,400 ,. (D) Rs. 10,000

€. 7,5005@ 8% euL_lg @SSO 6p(1h eu(HLLD 6 Ldngréja;@éasnm gefl UL g0 STewTs.
A) . 800 - (B) . 900
(C) em. 8,400 o ' (D) em. 10,000

3

S.1 =7500><—><i=Rs.900 N :1E:§years
2 100 2 2

If one fifth of one third of one fourth of a number is 2 then the number is
(A) 50 (B) 60
(C) 100 'V(D)’--"-‘ 120

@i cramenflen mibEld em Lkidlar apearde @@ Lrder prendléd g Lk 2 erafld oieu@eier
A) 50 ' . (B) 60 '
(© 100 . X ' (D) 120

Ll =2 = x=120
57372

A silver wire when bent in the form of square encloses an area of 121 sq.cm. If the same
wire is bent in the form of a circle. Find the radius of Circle.

(A) 11 cm ‘B)’{?'T cm
(C) 3.5cm - D) 14cm

@ Geudrall sblow amarsg @@ ssiTwrs LIHPLULESADS. sgiTddea uriy 121 &0a8. Cs
S0 QUEATSS)] (1 UL L DTS MHHIETTED Sibhs eulLSElar b errmen?

A) 11Qes8 ' (B) . 7QsS8

(C)y 35Q@&b D) 14Q&6
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Solution
Let a be the side of the square
Area of the square = 121 sq. cm. (given)
a> = 121 sa=11cm (11x11 =121)
Perimeter of the square = 4a units
= 4x11 cm
= 44 cm
Length of the wire = Perimeter of the square
= 44 cm
The wire 1s bent in the form of a circle
The circumference of the circle = Length of the wire

... circumference of a circle = 44 cm
= 44

B) 1
D) 8
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2
(4) =3x(2)"3x1+16 =16-3x4+4
= 16-12+4=8

If 2+-3=89, 3+4=8164, 4+3=6481 then 1+2=7

(A) 24 , (B) 14

i,

Qicc) 12 | . D) 10

2+3=89, 3-4=8164, 4+3=6481 crevfleo 1 =2=7
(A) 24 (B) 14
© 12 | (D) 10
Hint:a ~b=a° b?
2°3*=89 3',4°=8164 4°3'=64 81 1°,2'=12

Mean of 100 observations is found to be 40. At the time of computation two items were

wrongly taken as 3 and 72 instead of 30 and 27. Find the correct Mean.
W  39.82 (B) 40.18
) 41 (D) 425

100 eremraaflan spmafl 40 erenm srewliul L g). sarsSlHbd Crrsdd 30 whmb 27 ererm @)
efleugmiiser 3 wHMIL 72 arssUMSOTES THSGIGEEAsTaTaTILC L g ot Qsflw cupbsg erafléd eflwimer
gyraflenuwd &menrs. :

A) 39.82 _ (B) 40.18

<© 4 D) 425

Correct Value = 57 Misread Value =75
Difference = 18 Average Ditference = 18/100 =0.18
Correct Average =40 - 0.18 = 39.82
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D is taller than C but not a.s tall as B, C is taller than A. ‘Who among A, B, C and D is the
tallest.

. J

A) A . B B
© C (D) D

D eemueuir Cg el 2 wpworemeur, emed B oareysg wrlldme, C eremueur Ag eflL

o wiyoraeut arefley A, B, C, wpmid D-é 2 wiypwrereui wimri?
@A A (B) B
(C) -C (D) D

B>D>C>A
Therefore, B is the tallest

Find the odd man out in the following :

1, 5, 14, 30, 50, 55, 91 ‘ .
A) 5 | B 50
(C) 55 (D) 91

emeu(mLbd ererger Gameuflenguiler QUMTHBETS cTERTENEWTE HTEHTS.
1, 5, 14, 30, 50, 55, 91

(A) 5 | A B) 50

(©) 55 D) 91

The patternis +4,+9, + 16, + 25, + 36, ..... i.e. + 22, + 32, + 42, + 52, + 62,
So, Wrong Number is 50. [30 + 25 = 55]
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In the given figure, find the value of x.

B)
(D)

Qamrhsgiarer UL SHeSl(BHg, x-@)etT oHLIeH LIS HTETss.
A

50

(A)  40° | | - ®)
(©) 50° D)

Since sum of the two interior opposite angle is equal to the exterior
angle.

100 =x+50 = x=50
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There are 80 bags each bag contains 15 fruits. If a bag contains 12 fruits the number of bags

are
A

A 10 : uB) 100
© 8 | _ D) 20

@euQeur@ eulgid 15 uphiser Aarar® 80 @usET 2 atarar, arafler 12 Lprismens Qamam®
SADLES GTEHFMma eougeT CHenau?

@A) 10 (B) 100
© 8 | D) 20
Total No.of fruits = 80x15=1200

1200

Required No.of bags = =5~ = 100

13.

If 2x+y =15, 2y+ 2z =25 and 2z+ x = 26, what is the value of 2 ?
A 4 B) 7

i
@€ 9 B 11
2x+y=152y+2z =25 wpmwb 2z+x = 26 erafled z & wHL eTemen?
A 4 B 7
@ ) 9 D) 11
Answer: Option D
Explanation:
2% +y =150 2y +z=25..(I)and 2z +x = 26

Adding (i), (1) and (i), weget : 3(x +y+z) =66 orx + y + Z = 22, ...(Iv)

20—z

From (i), we have : y = . From (i), we have : x = 26 - 2z,
7

20—z
2) + (o) +2= 2 <=>TT -8 =4 <=> =3 <=> =11,
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If AB=12, BC =23 then YZ =?
(A) 2426
(C) 2425

AB =12, BC =23 erasfleo YZ =7

(A) 2426
(C) 2425

English Alphabetical order A =1, B=2, C=3

15.
Find the area of the following shapes

2m.

B) 2325
«PY 2526

(B) 2325
(D) 2526

Y=25, Z=26

(A) 26sgq.m
(C) 46 sq.m

7x2=14m-=

7x2=14m=

14 + 14 + 8 = 36 M~
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16.
Find the value of x
- 324

(A) 847

W~ 784

(13+5)°
(11+6) =(17
(21+7)=(28)" =784

Find the greatest number that will divide 51, 99, 191 so as to leave the same reminder in

each case.
B) 7
D) 8

51,99, 191 ey cramasaen eps sl Quilu erarermed aEEEL Qurs B8 sowTs HoLsEh?
@A) 4 B 7
© 9 | D) 8

HCF of [(99-51), (191-99), (191-51)]

HCF of [48, 92, 140] =4

APPOLO STUDY CENTRE WWW.APPOLOTRAINING.COM PH: 044-42867555




Vishal deposited Rs.200 per month for 5 years in a recurring deposit account in a post office.

If he received Rs.13,830. Find the rate of interest
6% ®B) 5%
© 8% D) 9%

eflagmed geuleum g geusssSHb 5.200 @ @f iEHFLs5HD 5 AFTHEEHEHEG GeausH aubgTT
wpigefled eurm ¢5.13,830 Quipmmit erarflled culig 6SsLD eresmen?
A 6% _ B) 5%

(C) 8% ' (D) 9%

Solution

Maturity Amount, A =< 13,830, P =< 200, n =35 x 12 = 60 months

Pertod, N = 1 [”(”+ ”]years

9

Fa

12

11—2 ()><6 3; years

Amount Deposited =Pn = 200 x 60 =X 12, 000

Maturity Amount

ean — e 305
13830 = 12000 +200 x 22 x -

13830 — 12000 = 305 x r
1830 =305 xr

1830 _
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Find the difference between simple interest and compound interest on Rs.2,400 at 2 years -

at 5% per annum compounded annually.

g
(A) Rs.5 ) . \aa{ Rs.6

(C) Rs.8 (D) Rs.7

5.2,4008@ 5% par(h eully eSgb 2 pamhsafles Ha_&@Gb sal () eulg&@h safleulgé@l o drer
ANGHWTHD &TesTs. '

A) .5 . : . -~ (B) .6

© @8 D) .7

2

2
P=Difference x (%) — 2400 = Difference x [%) — Difference= 244—(?(?

Find the value of ‘x’

(A)
C 6
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Solution Given AB is 3am, PBis 2cm PR is 6cm and 4B |OR
In APAB and APOR

ZPAB = ZPQOR (corresponding angles)

and ZP 1s common.
APAB ~ APOR (AA similarity criterion)
Since corresponding sides are proportional,
AB _ PB
OR PR
_ ABXPR
OR PB
_3X6
2

Thus, OR =9cm.

3 3

a+b a’ — : . : . .
and ———are the two rational expressions, then their product is

a-b a’ +b

a’ + ab + b* a® —ab+b?
L oy Lol
a“—ab+b -

2 _ oy 72 . 2 2
a®*—ab-0b _ (D) c:v.2 +ab + 1)2
a“—ab->b

a® +ab+b?

a® + ab + b*

3_ 13
ar 2 LOHmILD a3 zB <opdluse @ eVdlsupm Camancusar ereriled «ieumblen CLi(HEsme Lisve.
a-— a’ +

a® +ab+b: a® —ab + b*
A —_ B ———
&) a® —ab +b* (B)

a® —ab - b> D) a’+ab+b
a® +ab + b* a’—ab-b*

a’ +ab + b®
2

©

a+b (a-b)(a’+ab+b?)
— X
a-b (a+b)(a*-ab+b’)
)

(a2 +ab+Db?

:>(a2—ab+b2)
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Find the total area of 14 squares whose sides are 11 cm, 12 cm,.....24 cm.
(A) 4415 sq.cm. (B) 4055 sq.cm.
(C) 4155 sq.cm. v(—D) 4515 sq.cm.

11 Qa.8, 12 Qa.15,.....24 Qe.5 fuepen usshaems darar 14 sgriseier Gorss Uiy
HTES.

(A) 4415 5.08.15. ' (B) 4055 &.Q.15.
(C) 4155 4&.Qs.5. (D) 4515 &.Qs.16.

Solution The areas of the squares form the series 1124+ 12° 4 247

Total area of 14 squares = 4127 +13° + o 4+ 247

3 3

=17+ 27+ 3 4 24)-(P 4 224 30 10

424 + 1)(48+1)  10(10+1)(20+1)
6 6

(24)(25)(49)  (10)(11)(21)
6 6

= 4900 — 385
=45155q. cm.

23.
The value of an old car is Rs. 45,000. If the price is decreased by 15%, find its new price.
«“&)" Rs. 38,250 (B) Rs. 39,350
(C) Rs. 40,250 (D) Rs. 41,250

e uapw sriler ellene 5.45,000/- sigen eflenaudled 15% Genpey erafler @UAUTWE Sigem LSw
efleney eretren? : '

A) @ 38250 B) . 39,350
©) . 40,250 : D) 5. 41,250

45000 x il = 38,250
100
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‘The ratio of the speed of the three carsis 2 : 3 : 4. What is the ratio of times taken by them
in covering the same distance?

A 2:3:4 (B) ‘4:3:2
C) 4:3:6 \g_)j/’e-.zz:s
ey anisar 2: 3: 4 aany 69ds Caussledr Qeanpred Sibs (patmy sMisEHL @b GNUILL &0
gIEms L& eT(N5815 Qamarend Crrasaflan clfssmss sras.
&) 2:3:4 (B) 4:3:2
C) 4:3:6 (D) 6:4:3
Explanation:
Speed and Time are inverse ratio
1.11
Required Time Ratio 2 3 4
23

— Multiplyby12  --[LCM=12]

If . p=9then 8\/p(p2+3p+3)+1 =7

rd
-

W& 10 - (B) 100
(C) 1000 | (D) * 10000

Explanation:
p*+3p? +3p+1=(p+1)

3(p+1)3::p+1
=9+1=10
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